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QUESTION 1

Click the Exhibit button.
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Referring to the exhibit, what is the cabling error?
A. The second path should be connected to slot Ob.

B. The daisy-chain between the shelves needs to go from a square to a circle.

C. The ACP ports are not cabled.

D. The SAS cables are connected to the top shelf for both adapters.

Correct Answer: A
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QUESTION 2

What are two valid storage layouts when using the SnapCenter Plug-in for Microsoft SQL Server? (Choose two.)
A. storing multiple LUNs in a volume

B. storing a single database per LUN

C. storing multiple databases per LUN

D. storing database files on a LUN that contains the log directory

Correct Answer: AB

Reference: https://docs.netapp.com/ocsc-43/index.jsp?topic=%2Fcom.netapp.doc.ocsc-dpg-mssql% 2FGUID-
F15BFFC5-5DB5-4D56-AD52-ADD65331EED9.html

QUESTION 3

Click the Exhibit button.

CDOT95::> vserver export-policy rule show -vserver SVM1 -policyname esx

Policy Rule Access Client RO
Vserver Name Index Protocol Match Rule
svMl asx 1 any 192.168.1.0/24 any

CDOT95::> volume show -vserver SVM1 -fields policy
vserver volume policy

- ———— - ————

SVM1 NFS_D301 default

An administrator enabled the NFS protocol on an SVM and created a volume to be used as a datastore in a VMware
environment. An administrator attempts to mount the NFS volume and receives the "Cannot mount / access an NFS
volume or file system" error.

Referring to the exhibit, which step must the administrator take to solve this problem?

A. Reorder the rule indexes.

B. Change the security style.

C. Assign the export policy.

D. Change the access protocol.

Correct Answer: C
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Reference: http://storageprofessional.blogspot.com/2015/12/

QUESTION 4

You have a 4-node cluster configured for FC. You create a new LUN on node 1, map the LUN to a host, and verify that
the host is able to correctly access the LUN. However, after moving the LUN\\'s volume to node 3, ALUA reports that all
the paths are non-optimized. You have already verified that all zoning and physical cabling is correct.

What should you do to enable ALUA to see the optimized paths?

A. Update the reporting nodes for the LUN mapping.

B. Update the igroup initiator WWPN.

C. Update the MPIO policy to most recently used.

D. Update the MPIO policy to round-robin.

Correct Answer: A

QUESTION 5

Click the Exhibit button.

Workload IDp Latency Network Cluster Data Disk Qos NVRAM
csdata-

widl234 1234 27.68ms 74.00us Oms  835.00us 25.77ma Oms Oms
casdata-

widl234 1234 37.12ms 73.00us Oms 643.00us 35.07ms Oms Oms
cadata-

widl234 1234 29.42ms 73.00us Oms 643.00us 27.32ms Oms Oms

Users complain that they are experiencing problems accessing production data due to timeouts. You review the QoS
output for a volume that handles the manufacturing production data.

Referring to the exhibit, which command would help to identify the problem?
A. statit

B. storage disk show

C. storage failover show

D. disk show

Correct Answer: D

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1031202/~/how-to-troubleshootperformance-issues-in-
both-clustered-data-ontap-and-data
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